
 В № 1.  Вычислите; 
а)  .3:3*3 23,07,0    б)  49log

7
1      

 в)  12log5,0log 66    
 г)  5,2log5log 22     
д)    logଵଶ 1        е)  7୪୭୥య ଽ                                                                                                                             

В № 2.  Вычислите; 
а)  .2:2*2 32,08,0     б)  27log

3
1  

в)   5,2log
5
2log 33   

г)   04,0log2,0log 55   
д)   logଵହ 15       е)  4୪୬ ଵ 

В № 3.  Вычислите; 
а)  .4:4*4 44,06,2      б)  

64
1log

8
1  

 в)  
3
21log3log 55     

  г)  48log6log 88     
д)   logଶଽ 29     е)   2௟௚ଵ                                                                                                                          

В №4.  Вычислите; 
а)  .5:5*5 33,07,1       б)  9log

9
1      

 в)   5,10log
3
2log 77   

 г)   2,0log6,0log 33   

д)   logଵଷ 13     е)  3୪୭୥ఱ
భ
ఱ 

                                                    

В № 5.  Вычислите; 
 а)   .8:8*8 23,17,0   б)  125log

5
1  

 в)  2log5,0log 99       
 г)   7,0log1,0log 77   
 д)  logଵ଻ 1    е)8୪୭୥ఴ ଽ       
                                                                   

В № 6.  Вычислите; 
а)  .7:7*7 34,26,1  б)  64log

4
1   

в)   5log
5
2log 44   

г)  18log3log 66     
д)  logଵଵ 11       е)3୪୭୥య ଶ                                                                                           

В № 7.  Вычислите; 
а)  .9:9*9 41,29,0   б)  

36
1log

6
1  

 в)  5log2,0log 66       
 г)   2log10log 55   
д)  logଽ 1   е)  5୪୭୥ఱ ଵଵ 
                                                                        

В № 8.  Вычислите; 
а)  .10:10*10 28,02,0    б)  5log

5
1    

в)   45log
5
1log 33   

г)  6log3log 22    
д)   logହ 5    е) 2୪୭୥మ ଻                                                                                 

В № 9.  Вычислите; 
а)   .8:8*8 53,07,3    б)  216log

6
1  

 в)  2,0log35log 77      
г)   14log2log 77   
д)    ln 1    е)  9୪୭୥మ ସ                                                    

В № 10.  Вычислите; 
а)  .3:3*3 3,76,07,4      б)  9log

3
1       

 в)   5log8,1log 99   

 г)  
8
5log5log 88      

д) log଼ 8      е)  4୪୭୥య ଷ                                                                          

В № 11.  Вычислите; 
а)  .4:4*4 44,06,2    б)  

64
1log

8
1  

  в)  
3
21log3log 55          

 г)   2,0log6,0log 33   
 д)   logଶଷ 1       е) 9୪୭୥ర ଶ                                                

В № 12.  Вычислите; 
а)  .5:5*5 33,07,1       б)  9log

9
1  

 в)   5,10log
3
2log 77   

 г)  48log6log 88      
д)   logସ 4       е)7୪୭୥ఱ ହ                                                                   

В № 13.  Вычислите; 
а)  .4:4*4 44,06,2  б)  

64
1log

8
1  

 в)  
3
21log3log 55   

 г)   2,0log6,0log 33   
д)    log଻ 1   е)  5୪୭୥ఴ ଼ 
                                                           

В № 14.  Вычислите; 
а)  .5:5*5 33,07,1         б)  9log

9
1  

в)   5,10log
3
2log 77    

г)  48log6log 88        
д)  logଵସ 14       е) 3୪୭୥మఱ ଶହ                                                 

В № 15.  Вычислите; 
а)   .8:8*8 23,17,0      б)  125log

5
1     

в)   5log
5
2log 44   

г)  18log3log 66            
д)  log଼ 1        е) 4୪୭୥య ଽ     

В № 16.  Вычислите; 
а)  .7:7*7 34,26,1     б)  64log

4
1    

в)  2log5,0log 99         
г)   7,0log1,0log 77   
д)   log଺ 6      е)    2୪୭୥ల ଵ 

В № 17.  Вычислите; 
а)  .9:9*9 41,29,0        б)  5log

5
1   

в)  5log2,0log 66    
г)   2log10log 55   
д)    ln 1         е) 7୪୭୥ఱ ଶହ                                                                                                  

В № 18.  Вычислите; 
а)  .10:10*10 28,02,0  б)  

36
1log

6
1  

в)   45log
5
1log 33   

 г)  6log3log 22                               
д)    lg1        е)   5୪୭୥ఱ ଶ 

                                                                         
               


